Pre-Algebra

Assignment

Name

ID: 1

Date

Simplify. Your answer should contain only positive exponents.

1) 4a'b* - 7ab’
3) 3v° - 3u’

5) yx* -y 7y’
7) 4a’ - 3ab”

9) 3a’b*-2a°p’
1) uv- 6vi’

13) 8mn’ - Smn”
15) 2m*n® - Smn’
17) 7u’ - 8V

19) 2y3 . xy3

21) 3xy- 7x4y4
23) 6u” - 8v*

25) 6)c2y4 . 8yx4 . 6yx3
27) 4yx3 - 6xy

29) 7m’n* - 4n

31) )cy4 : 3xy2

2) uv- uv?

4) 6x4y2 - Tx
6) 3y- yx4

8) 8y - 4x*

10) 3x3y2 : xy3

12) x3y2 : 2y2

14) 7)63)/3 : 7xy4 . 7)c3y3

16) 6xzy3 : 7)62)/3
18) 2nm” - 3n" - 2n
20) Xt 6xy4

22) 2x3y4 : xy3

24) 5q* - 8a’b’

26) 5x°y° - 2x

28) 3xy - 2xzy4 7t
30) 6a°b* - b’

32) m* - 5m’n*

-1-

Period



33) 2x'y’ - 3y° 34) 64’ - 54°b°

35) n- am*n’ 36) 8y - 4yx4
37) 7y2 . 6xy2 38) x4y2 - 3xy
39) 8mn” - 8m 40) x*-3y)°
6x3y4 5uv’
RN 42)
X7y uv
4y ot
43) 2= 44) 25
7x 4m
74t mn?
45) =2 46)
yx dm
2x3y3 7x2y4
A0 =5 48) 3
Xy 5x7y
6x3y2 7x3y4
49) o 50) —=
VX 6x"y
8x’y’ 6nm”
51) . - 52) 20
yx Tn
4y’ o
53) —2— 54) ——
8xy 3m™n
v’ x4y4
55) — 56) ——
vu 4x7y
4x4y3 8x2y2
57) N 58) 7
Xy 5xy

2-



59) 2

61) =—

63)

65) —

67)

69)

dm”n

x2
71) =

73)

75)

77)

79) =2

81) (x*y?)’

74)

Xy
2x

76)

2 4
2m’n

78)
dm™n

4
Smn

80)

8n

82) (n*)’




83) (vu')’
85) (8m?)’
87) ()’
89) (8x"y")°
91) (6y)*
93) (7m)®
95) (5277
97) (2m*)’
99) (ap?)’
101) (8w?)"

103) (3x)°

105) (2x%7°)°

107) (8u*2)

109) o’
11) (8?)°
13) (7u0%)"

115) (4x")’

84) (7u°")°
86) (74°p%)"
88) ()’
90) (3nm)’
92) (m’n?)’
94) (5m*n*)’
96) (64°5")"
08) (7u*?)’
100) (2°)°
102) (42’
104) (4x**)’°
106) (u>?)’
108) (3x)°)*
110) (4x°)"
112) (3mn?)?
114) (2nm*)’

116) (x*)?)’

4-



17) (%)’ 118) (7%)°

119) (84°) 120) (7ab)’
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Simplify. Your answer should contain only positive exponents.

1) 4a'b*- 7ab’
28a°b’

3) 3v° - 3u’
92yt

5) yx* -y 7y’
7y5x3

7) 4a’ - 3ab”
12a*b*

9) 3a’b*-2a°p’
6a°b’

1) uv- 6vi’
6u'y?

13) 8mn’ - 8mn”

64m*n’

15) 2m*n® - Smn’

10m>n*

17) 7u’ - 8V

561y’
19) 2y3 . xy3
2y°x
21) 3x97-7x4y4
21x°y°

23) 6u” - 8v*

48u*v*
25) 6x2y4‘8yx4-6yx3
288x°y°
27) 4yx3-6xy
24y%x*
29) 7m’n* - 4n
28m*n’
31) xy4-3xy2

2.6

3x“y

2) uv- uv?
wv?

4) 6x4y2 - Tx
42x°y*

6) 3y yx'
3yix*

8) 8y - 4x*
32yx*

10) 3x3y2-xy3
3x4)S

12) x%y2-2y2
2x%y4

14) 7)c3y3 -7x}ﬁV 7x3y3
343x "y

16) 6xzy3 -7x2y3
42x*y°

18) 2nm” - 3n" - 2n
12n°m?

20)x4‘6xy4
6x°)*

22) 2x3y4-xy3
25ty

24) 5q* - 8a’b’
40a’b’

26) 5x°y° - 2x
10x*y?

28) 3x9’-2x2}A- 7x*
42x7y°

30) 6a°b* - b’
6a’b’

32) m* - 5m’n*
5mn*

-1-

Period



33) 2x*y’ - 3y°

6y
35) n- am*n’
4n*m?
37) 7y2 . 6xy2
42y*x
39) 8mn” - 8m
64m*n®
6x3y4

3x2y2

41)

2xy°

4x° 4x°
Tx 7

7x4y4

2
yx
2.3

Tx“y

45)

2x°y° 2
47y 2V 2y

49)

53)

8xy® 2x

Tvu

55)
7vu3

'y’ 2x’
2x° y4 y

57)

34) 64’ - 54°b°
30a’b’
36) 8y - 4yx4
32y%x*
38) x4y2 - 3xy
355y
40) x*-3y)°
3)c4y3
5u™
uv
Su

42)

4 4
2mn  mn

4m’ 2

44)

3 2 2
mn

46)
4m 4

7x2y4 7y

43)
5x2y3 5

50)

52)

8x“y" 8x

Sxy

2-



59) 2—

<
NG

61) =— =

63)

65) —

67) 22

69)

71)

73)

75)

77)
3 yx3 3x°

4yt 27

79)
6xy 3x

81) (x*y?)’
x9y6

62)

64)

66)

68)

70)

72) =X~

Tx 7

74)

76)

78)

4 3
Smn’ Smn

8n 8

80)

82) (n*)’

n16




83) (vu*)’

2.8
vu

85) (8m?)’
512m°®

87) ()’
ulZ

89) (8x%?)°
64x*y*

91) (6)°
36)”

93) (7m)?
49m*

95) (5%
625x5y1?

97) (2m*)’

16m'
99) (ap*)’
azb()
101) (8w?)"
4096u*y®
103) (3x)°
27x°
105) (2x%7°)°
8x6y9
107) (84
641°v*

109) o’

a3

11) (8?)°
4096u*v1?

13) (7u0%)"
2401u*v1°

115) (4x*)’
16x%

84) (7u*)

494%8

86) (74°p%)"
2401a"*p"

88) (xy)’
x%yz

90) (3nm°)°

2 6
9n“m

92) (m*n?)’
’n12n8

94) (5m4n4)4
625m'nt®

96) (64°5")"
129642 '°

98) (7u*?)°
343u°v°

100) (2,?)°
4 y4

102) ()
y3 26

104) (4x**)’°
64x1%y12

106) (u>?)’

9
M6V

108) (3x)°)*

81x*y'2

110) (4x°)"
256x"?

112) (3mn?)?

9m>n®

114) (2nm*)°

28
dn“m

116) (x*)?)
x?y9

-



17y (%) 118) (7%)°

xSy1o 343u"
119 (8n°)° 120) (7ab)’
645 343a°b’



